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I �;:;0 � -1ii)_;fi ri,,:zri .J 

_ I lli111li and l•:11gli:--h Mnli11111 I 
'"'\ 

(Only li>r l•'n•:-h/�l'ltotp <ffVf]Y-1tftr . � 
{I'll./: 3 qu� I : so

• ffel/</l ,'1/rf •71{ \;) fr;; ;; '., f/'./{' J/' 
�

- 2 16 flW m?'

19 t?i 

/>lemw ,,wlnt srtrt• t/101 //w pri11t1·cl /Hl[J<"S ill this
question /JllfJt··r <Ire 16 ill 1111111b1:r <1111/ it contains
19 <111estio11s. 

• Jl�rr-rr:r if rFilN i»W �Tri)�� <lit l1T:f iJffr-qft<i<bl 
rli !J&l-Flfo qr #rri, 

The Code No: on the top of\�\ 1�11':io, 1' �>aper\ 
should be wnlte11 bu the canJidat�o,, 11,J 'front. 
page of the answer-book. 

• � m-;r w iTrl7" �;;, !F ffi 'ii � •*�
�"l/' fferii1 . . . '"-._,, 
Before uegmnmg lo onswer a questio,1, its Se1ial 
Number must be Written . 

1203 P. T. O. 

(2) 1203 

• iTrf7-JIRt<h7 ct a/fq if Wfffl fFfT / tR ;r 1J!f1
Do11 't leave b/m1k pnge/pcrges i11 your n11swer-book. 

• Jrrr-j/ti-,w � .Jr/t//t<Rr <nf J'Pl i!lc #1 'fi'rc1,JJt vTrr:
�'lF6ffl:JHI < tfl lmff v/r( .lffllr JflT ;r l/ilti 
E:xcept ariswer-book, rio extra sheet will be give11• 

LVritc to the point arid do not strike the written 
answer. 

• qfJenefl .JrrRT 'llrf ;;o Jl�';,f-fp/ /ff ,;ml{ /rr7l,
Candidates must write their Roll Number on the 
questio11,i;aper. 

• cp!T·mw w iTrlT iM "!1.ef � gf.1/frm <lir ff lit p�,r-r,,r
9!'f q .rrtt -� rd/err� JWi_f'{ � q qfff eft ?FIT
f<l/i,;,( #ffitw�, -
Before answering the question, ensure that ·you
have been supplied th� correct and complete
question paper,-no claim1tn this regard, will be
entertained after examination. 

f{/J.j/;:q f.riw :­

1203 

(i) 
(ii)
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wvg 'if' : if<{ {!{� ,, J{fl';f '({(J7!{ 16 '({ 19 ff</i <sFf 
q/7 JI!/•{ {!1 JllWi >{fl;'{ 5 · ,3T<fi{ </if t,
. • . 

r . 

(iii) ff({ fl:/;-r,f;{ Tf rrfr!f fi1I 7/ q;tef· F<l� ';(ff/ � � \
1/r ;) .JTifif c/Rf q{ >/:/;'{{ i'i uTRTM qlR >{qFf fi);q, 
T{<{f f:t Cf(/ Jlfl,f{ lf ft uTTwft � 11<! qlR if 'f1 ; 

wm f!<Fi [,? w1,r ffwlT t, -:,-,, 1 

General Instructions: -

1203 

(i) All questions are compulsory.

(ii) This question paper consists of 19 questions
which are diuided intb four Sections :'A', 'B',
·c· and 'D':
Section 'A' : Question No. 1 of this Section 

has sixteen (i-xvi) Objective 
Type Questions. Each question 
carries I mark. 

Section 'B': This Section c�ritains six

questions from Question Nos. 2
to 7, each of 2 marks. 

Section 'C': This _section contains eight
questions from Question Nos. s
to 15, each of 4 marlcs. 

Section 'D' : ?'his Section cont,.,· 
Ji . 

-.111s our 

questions from Question N 
16 to 19'. each of 5 marks.

os. 

(iii) 1'here is . no overall choice. 1-[0, .. 
. t l h . 

......ever a m ema c oice has been provid d . ' n
. e Ill t questzons oj' s marks. You have t wo 

only one of lite given choice in such 
O attempt 
qi,estions.

P. T. 0.

(i) 

(ii)' 

( iii) 

( 4 ) 

�-� 

SECTION -:-A 

0.001 � p� m11T 

(C) 

1 

999 

1 
99 

q 

1 
ID) 9999

Express 0.001 in p form : 
q 

1 1 
(A) 

{Bl
999 9 

1 (D) _1_
(C) 

99 
nHTl"1T -. \ 9999

�
1t<li � q�Gll ffl � � : . ·

( � 

(B) � 
(C) �-�, ��TI �

(D) � 'B cm-{�

. Every integer is a rational number :

(A) True

(B) · False 
Not Always, Some Times

(C) . f these ,. 

1 

1 

(D) None o 
� 

� (-1,-3) . ml ,t � ��T if �

1 

� ?.,�!IT 1 i't IIV�hT II if 
(A

) ���l III i't (D) ��T IV if
IC} ....,:.; ii 
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( 5) 

. 

12.aa

·�0 which quadrant point (-1, -3) lies:

(A) I quadrant _18) II quadrant

(C) HI quadran� '(DJ�· IV quadrant

(iv) f,{i:i�tr!'lci �;;fill ai11N,l q <€R-m � � i ? \

(A) XI /_4 + 6 (� + 5
X

. 

2 

(C) x+_!_ (D) x3 : 2 +2x+6
X

Which of the following algebraic expressions

is a polynomial ? 

(A) 

(C) 

X l /4 +6 

1 
x+­

x 

(8) 3x2 +�x
2 

(D} x312 +2x+6

(v) f!l-flc.6{01 6x + 7 � � ax+by +c == 0

1203 

(I qi{ TfA m1Tf : 
(A) 0 
(C) 1 

(BY"6 
I 
(D) 7 

Compare of 6x + 7 with the equation
nx + by+ c = 0, the value of a is : 
(A) 0 (B) 6
(C) 1 (D) 7

(vi) 2x:,> 7x + 3. <!5f �.-f&Us m1ff : 1 
(.A'f" (2x + l) (x +3) (B) (2x+ 3) (3x-2)
(C) <2x-l)(x+4) (DJ (2x+1)(2x-1)
The factor of '.2 2 . . 
�A) (2x+l)(,t .x +7x+3 is. 

(C) (2x-l)(x 1-3). , (B) (2x+3)(3x-2)

. 1-4) , (D) (2x + 1)(2x -1) 

(vii) 

( 6) 

� all b, bll C m �-m � wrl?

(A) �c

� all c 
If 1111 b, b 11 c 

(/\) n .l. C

(B) 11 lb

(D) b .LC 

then which one is true ?

(B) n lb

1203 

1 

(C) a II c (D) bl c 

(viii) � A, B � C � � tft � ${ � m '3m

B fci5 A � C cfi l!tlt � m, ill �-m �

fflif V, 
- 1 

(A( AB + BC = AC 

· (B) AB - BC = AC 

(C) AB + AC = BC

(D) AB + BC = AB l.

A, B, C arc three points lies on a line B lies ' 

between A and C, then which one is true ? 

(A) AB + BC = AC (8) AB _ BC = AC
(C) AB + AC = BC (D) AB + BC = AB

(ix) M � � � lO � � 3lf� 5 � l
��m71T: •. 

' 

(A) 50 �2 (✓25 �2
1 

�2 . t1'11 
(Cl 1s tl.,I · (DJ 20 wn2 . 
If the height of a lrian I 
is 5 cm, then its arcai!� is 10 cm and base 

(A) 50 cm2 · (B) · 2 25 e 2 
(C) 15 cm ID) m 

20cm2 
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( 7 ) 

(x) <J'dlcfil{ � cfil � � 3.5 -4'1° i * �

10 -4'1o � �I m. '3ltffitq; qsp � � M" :1

(A) J 20 -4'1o2 (

�

02

(C) 130 q)o2 (D) 140 -4'1°
2

The inner diameter of a circular well is 3.5
m. It is JO m deep. Its inner curved surface
area is: 
(A) 120m2 (8) 110m2

? 2 
(C) 130 m.. (D) 140 m

(xiJ • � t1l'..l<hl0
1 ;rtt wrr � : 

(A) . � , (8) q11 <liT

(� cfil ef rr.r cfil
Each angle is not right angle : 
(A) Rectangle (B) Square
(C) Triangle (DJ �u�e

(xii) � cfil � �I 1 
What· is volume of a cylinder ?

(xiii) i3. if, x cJiT qr;:r WIT :

I( 

N 

(BJ . 18°

(D) 36°

1 

1203 

( 8) 1203 

I f V ''C . I fint1rc cilc va uc o ,, u . 

J n t 1c 1,., , 

(A) 90 I 180

. (C) 27°
[iD) 36°

�xiv) 1Z<li e)ij if 3 �, 5 iliJat '1lR 4 � � �I � 
� � C!'li � �l�i'U�I f.lffift �I �<hictl � itG � 
� <t't lllfllq,c11 � : 1 

(Al l (8) _! 
4 4 

(C) 1 . 1 ·!(D)
6 9 ln _a bag there are 3 red, 5 black and 4

white balls. One bait is drawn at random.What ;s the probaq�ity of red ball ?
(A) 4 (B) _!. 

1 
. 4 

(C) 6
n=-!"

,..,... 

(D) .!.
(xv) � mf lll<iiRiq, ffislll��J (A) 5 .,, : 

(C) 4 ( 3 
The mean of first five (D) 2
(A) 5 �tural numbers is :(C) 4 · ,BJ 

(xvi) if/� <Iii c@1IT mclT .l, ID) 2
(�) )lf<1i c@1IT
(<zy ti'J</ilOJ : (B) - �ID) � <filllr

1 
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( 9). 

/\nglc in a semicircle is : 
(/\) Complcmcntary(B) Obtuse 
(C) Right (D) Acute

�-� 
' 

SECTION-B 

- p � � iilm 0.3333 ...... =0.3 � -, � ffl +1 cZTcffi 'flU"I'{, p 
q .,. 

'3li{ q � � {fey q "' 0 i, 2 

Expr�ss 0.3333 ....... = 0.3 in the form p I 
where 1

q .. 
r q arc fr1 tcgcrs and q :# 0 . 

/ 
.,,3. � �: 2 

Simplify ; 

/ (3-1-✓3)(3-./3) 
✓� LABC = 69°. <ACB = 31°, at LBDC � m11r? 2 :.

1203
P. T. 0. 

1 10) 1203 

If LABC = 69°, 
31 o find LBDC.

LACB "' 

D 

C 

a-: 105° ��<lit� <!ft,. 2 

Construct an angle of 1 o--5•. 
6. '3tf � � m slffl -�, fJmcf,r � ��Cf,

�
154 wl\2 i, 

F. nd the radius of a sphtrc whose surface area
I 

. 

jS154cm2• · ; 

7/ � � 1.!iY. � � 2�0TT -re@T Tf<!T i cmI � 
� qfl:unlif .er c1tl<1trn1ct r;;, l : 2 

q�onq 3 fmr 

ii!l�a'!Hcll 23 

2 lmq 1 f.@ 

72 I 77 

i1{ ifT fuct .:i�l 

28 

Three coins are tossed siilultancously 200 . times with the following frcqlltncics of d"f' 
comes: 

I 

· 1 1ercnt out· 

Outcome 3 heads 2 h�s l head� no head 
Frequency 23 1i

...... 77 
28 Find the robability of 2 h p 

ita.ds.

1203 
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( 11) 12.031

� - 'fl' 
SECTION-C

8. c!ffifcf ij $,T cf.T '41(�'1 Fm �"11 t 

(?6)3 +(-15)" +(-13)3_ cf.T i;J, fflo � I 4 

;ithout actually calculating the cubes, find the 
value of (26/ +(-l:iY +(-t3)3 · 

9. fl4icj,{Uj 2.t + 1 = x - 3 jcf.t � � ;:,it � <'& li) -:i�I
� Q'{, (ii) c/i@Tll' ITTl if< Pll-Nd �I .1

Solve the equation 2x + l = .\' -3 and represent
the solution on (i) The number line, (i\ The
Cartesian plane.

�� if AC = 8D %, oT � � AB = CD : 4 

11. 

1203 

A B 

If in figure AC = BO, then prove that AB = CO:

---�c

A . B 

MBC ct! � Be � D � qm � 'f fcfi AD = AC
� fcli AB> ADr 4 

A 

n 

P. T. 0. _;.
.ii 

( 12) 1203 

•1·dc BC of MBC such thnt
· · t on 15 

B AD D ts a po1n_ Ii ,urc show thnt A > 

AD = AC in given g 

J\ 

D/.C------..... 

100 m C . 

B 

1203 

4 
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14. 

15. 

( 13) 1203 

Sonya hu:-i u piece of land which iK in the Kh<Jpc .
of a rlwmbu:-i (i-iec figure). She w.JntK her one
daughter and one son lo work on the land and
produce different crops. She divided the land in

· lwo equal parts. If the perimeter of the land is
400 m und one of the: diagonal::1 i:; 160 m. How
much area each of them will get for their
crops ?

100m

100m

l:fcfi � � � � cfiJi � � 4.4 'Zfto2 %1 �
� cfi '3Timf � � 0.7 lfto i, fil � � �
�I 

'71'11�. 

C . 4 urvcd surface area of a right circu) . . 
. 

2 ar cylinderis 4.4 m. lfthc radius of the base. 0 . · . is .7 m, then• find its height. https://www.haryanaboard.com 
qq; lltWf � ct !tort <lit � l) {lffl � t � �250 ifi'll'kt � if � � ffl i<tl�Yt-it i\ � 175 �� i<lljt\11· -wt � � 
(i) � � � lt.f Q't 'l_4fj'111 cf> mt � � l11'4<&11

��? 
,., 

1203 P. T. 0. 

( ii)
( 14) 1203 

� � � 'R' ��llf,1 � '{lr.\ � \�;f fl� �11�:h,lf
� �ft ? ' ,I

'(i \lr a \\'\'Ht lwr �tnt ion �hll\\'� t h111 lllllThe: n..'('tll • ; • -t ·)�t) \'Ons,'(·t1ll\'l' dn� �. II� \\'t'ntlu·r.f t!H' �\:< _, '' , o - - ,·\.'l'-' t·on\'C'l I 7S t 1nw:-- :fort''-·n::-t:- ' 
(iJ Whnt i$ the: prob:,bilit�· t hnt 011 n gi\'l'll d11y

it ,,·n$ corn·ct i> 

{ii) \Vh:>.l is thL' probnl>ili_ty thnt ii ,,·n� nnt

correct on a gi\'cn dny "?

�-� 

SECTION-D 

-<ff -- j0/1@.S 4i)Rr!Q : 
. ., ., $,r� + t? + 1211-/1 ·I hu/1-

Fac\ori.sc: 
� � ·1 

s0:- + i,·' +'1211-/1+611/1·· 

3 

tH) �� � � � 103 x 10, cnT 11A mer <6\��12
Evaluate 103 x l 07 without dinxl multiplic;\llon.

� 
OR 

ti)·· x3 -nx2 +6x-n � x-n � mrT � q'\ -�
.. :,� �, . 2. ., . 

i°\t\d \he remainder when /\ -ax� +6.Y-fl 15
divided by X - n . 

�'\\. �3x\4x'.'> -3x-1 <lit x-'1 � 'qJ7T �I 3't)\vidc 1h l · . 1 '.\ b x-, c po Ynomial 3x· -4.\" ,-3x-1 Y 
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17. 

18. 

1203 

( 16 ) 
·�

1203 •.
r.1nq- ;)' l'.llll� IT{ it; .�, � � � lHiifil( .(Cul,il'III) qr,n i.(j) �� lf,fq� \, � � � 
fQ,i'lnt t ,r; rfio �'!�f t, cfg � 't-4;) cfi � �'If\� 
q;'t t�_i,:u gl!, 25 �),ft ·� .qM) cp1\4»{ � �Tiles) 
wr,11m \\1 �R ,,�1 � � :160 � ma � l. m
\JU i'.l��r �111t1r,1 i'f fcmFH � � $ ? sI lru11c1·d h11H bu ill n cubical water tank with lid 
for I 1 is I 10UHc, wi 111 each outer edge 1.5 _m long ..I re g<'l:1 till· outer su_rf11cc of lhc �ank cxcluaing ti ll ' l,n:•w, covered with sqw.1re tiles of side 25 ·
t·111. J•'i11cl how much lie woulc.l spend for the tiles 
ii' tlll' co:-1 of the tiles is� 360 per do:;r,cn? 

3'feJtJT 

OR .. , 
��I� I tfio <lIB" � 4�H1<6I{ � t6l' mf«fT 15.4 � 
�, �fft} c.1�r:'t <fi f01Z � � mg t6l' � <& .. , ' 
ulFl��I i:!Pfi ? . 5 
The c:1pacily of a dosed cylindrical vessel of li<'ight Im is l 5.4 litcr.s. How many square;� 111c11·r of metal shc.:cl would be needed to makeJ i l ? ,; 
<!l'G (fcfi � l'.llf{ � � � � � �� 
,><li i� wrtm �ui'f <fi � ·� m, m � � �;� .•Bl� <fiT � <1iii�< � cTi � cJiT ,am� .;�. l•I . r •, 

5 If n triangle and a parallelogram arc on the same base ancl betwcc.:n lhc same parallels, then prove . �hal the area of !he triang�e is equal to half th�Jarea of the parallelogram. _. . J · 
I 

( 16) . 1203 

� � TJill � il <100 � M. � �-lli@ �
19. '11"1 

���it:�-i:
Eic1
�

il-r7rw��-G�i· �-_-
� � - -

-flt( ---
so0-400

. 400-soo
5oo-600

600"700 
··"i'oo-soo

800-900 
900-1000 

(i) (!<6 3W@ � � � ij � 

56 
60 
86 

74 
62 

� 

· 3
� �I 

(ii) � � er; ;;ftcr,;.<t>@ 700 iiif � � l ? 2 

The following table gives the lifetimes of 400 
neon lam s: 

Lifetimes (In HoursL Number of Lam s

300-400 14 
40,0-500 56 
500-600 60 
600-700 86 
700-800 74 

800-900 62 

_ _.:9�0�0�- l!_<;0�0Q.0 __ ..L�=-:=
4

:
8

��-fu-;;..;;.- . infor="tLA1"f''w1th the 
(i) Represent the 

I 
given .::---v.. 

.. 
help of a histogram . . · : 

PS have a lifetime of mot.4 
(ii) How many ? 

··' 
than 70 . ows · 
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